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J| & _ _
o = o & o ow B A2 & s ] =
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EREIEL] 33,956,478 33,071,478 885,000 [ = 700,000
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ZENAYE Ly 30,758,411 29,873,411 885,000/ 1™ 700,000]
3320
HAa 2 30,758,411 29,873,411 885,000/ 1™ 700,000]
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X| o1 g 11,184,707 11,344,707 160,000
200
AFEH O AF 11,156,948 | 11,316,948 160,000
220
Xt ALY 9,065,393 9,225,393 160,000
401
NPT 8,145,393 8,245,393 100,000
7,963,117 8,062,217 ~99.100 |01 Al&H|
O ANTE MA-RT =2 HEZA
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83.276 84.176 A900 03 Al& =
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ni: = ml&ﬁoﬂ&oﬁ”%A% A = | ES
(2%) 02 - (J1%) 30,000,000 A30,000
O SHE 22012 428 AX2A
(3H) 0 - (J1%) 30,000,000 A30,000
O BEs B8 2=sFA &R
(BH) 0 - (J1%) 20,000,000 = A20,000
O QEE QSNE FII= 20,000,000& X 1= = 20,000
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J| & _ _
i = O] &b OH Gl AF oM = A s = | =
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sta el 19,404,082 18,359,082 1,045,000/ L& 700,000]
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ARSI Ol AF 19,390,598 18,345,598 1,045,000 [ = 700,000]
210
SXAY 17,789,999 16,789,999 1,000,000 [= 700,000]
401
NPT 17,789.999| 16,789,999 1,000,000
17.716.126 | 16.718.826 997,300 |01 Al&H
O ISH NUEGIAE HatAY
1,000,000,0009 X 99.73/100 = 997,300
(2 700.000 )
(Al 297,300 )
73.873 71.173 2.700 03 Al&20HH]
O ISH NUHEGIE HatAY
1,000,000,0008! X 0.27/100 = 2,700
(Al 2.700)
220
Xt I AFLS 1,600,599 1,555,599 45.000
401
NPT 1,540,599 1,495,599 45.000
1,300,817 1,255,817 45.000 01 Al&H|
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A& IEFZH 4,207 421 3,786
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NINES 4,207 421 3,786
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NXE= 4,207 421 3,786
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400
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420
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